F BUS

ALUMJNJUM

FATEETFENENRRRNE RUENEEN T .




Aluminium Profile 45744 F@'BUS
FA2020-6

Slot ## [ Item No =Adm S Material # & Weight (kg/m)
6 FA2020-6 Alu 6063-T5
FA2040-6

Slot ## [ Item No =R S Material #1 5T Weight (kg/m)
6 FA2040-6 Alu 6063-T5
FA2060-6

Item No J=5h4R S Material #4J5 Weight (kg/m)

6 FA2060-6 Alu 6063-T5




Aluminium Profile £2FY44

F@®CUS

ALUMINIUM
FA2080-6
R 5% 5 5 5
Bl el Bl D
I '_,I’_— hl |_—>rl i —_ | K—_
N Y | | | | |
Slot ¥ Item No =R S Material # Jix Weight (kg/m)
6 FA2080-6 Alu 6063-T5
FA3030-8
B 16.40
: 30.00
. oo
o ‘ @6.80 —23.00 g:‘f
p [ T 1 Iy
A Q) % =1 T
) \ |J 4 } R
( l : |
J 'y
< _ ' | R2.50
( \ #2330~
Slot ¥ Item No = AR S Material # i Weight (kg/m)
8 FA3030-8 Alu 6063-T5
FA3060-8

Slot ## [

Item No = h4RS

Material A1 & Weight (kg/m)

8

FA3060-8

Alu 6063-T5




Aluminium Profile £5RY 44 F@Bus
FA3090-8

Slot ## [ Item No =Adm S Material # & Weight (kg/m)
8 FA3090-8 Alu 6063-T5
FA4040-8
-_1 40.00
[=]
o P
(O | Sl ¢
AN > 12.30 O 22
&) | HJ T
(2 ' $6.70
/ jlll —
& %6.00 B.ZGaI L -
Slot & Item No F=iadwm = Material #4 5T Weight (kg/m)
8 FA4040-8 Alu 6063-T5
FA4080-8
: 8
el
80.00 Q
Slot #&M Item No = 4R 5 Material # 5T Weight (kg/m)

8 FA4080-8 Alu 6063-T5




Aluminium Profile £2FY44

FA4040L-8

L*—MO

F@CUS

ALUMINIUM

R3.35
Slot ## [ Item No = LRSS Material #4 & Weight (kg/m)
10 FA4040L-8 Alu 6063-T5
FA4040R-8
@2.50
8.20
— o O
SIRS]
_ @ ®
R4.50 -
Slot ¥ Item No = hdRS Material # i Weight (kg/m)
8 FA4040R-8 Alu 6063-T5




Aluminium Profile £2FY44

FA4545-10

F@®CUS

ALUMINIUM

R5.10
R8.00

R2.50

1250 8
@ 1o.|z.0Jo—-
Slot ## [ Item No = LRSS Material #4 & Weight (kg/m)
10 FA4545-10 Alu 6063-T5
FA4590-10

Slot ## [ Item No =adm S Material # 5T Weight (kg/m)
10 FA4590-10 Alu 6063-T5
FA6060-8
Slot #&M Item No = 4R 5 Material # 5T Weight (kg/m)
8 FA6060-8 Alu 6063-T5




Aluminium Profile £2FY44

FA6060-10

F@®CUS

ALUMINIUM

Slot ## [ Item No = adR= Material #4 & Weight (kg/m)
10 FA6060-10 Alu 6063-T5
FA8080-8
80.00 |
SR
6.00
888 R3.35
5 ¥ R4.50
780 S5
20.20
Slot ## [ Item No = adm S Material # 5T Weight (kg/m)
8 FA8080-8 Alu 6063-T5
FA9090-10
' 90.00
8R 45.00
T
B 88
n <
<+ O
12.50 =
R2-50 6.30 RS.ID
R8.00
Slot /& Item No F= 4R = Material # Jit Weight (kg/m)
10 FA9090-10 Alu 6063-T5




T Nut / Hammer Head Nut (TEV42£})

F@CUS

ALUMINIUM

6 M
ra
%f @
< | (o)
o = .
K ) ™ s E’ g
10.2
Slot §&[ Item No F=5udm S Thread $27F Material #4 i
6 FA-TN20-M4 M4 Steel Bix4X
6 FA-TN20-M5 M5 Steel Bix4K
8 M
; /£
=4
< -
) wl © Ef B
15.8
Slot ##J Item No 5= Thread Y27 Material # iz
8 FA-TN30-M4 M4 Steel Tix&R
8 FA-TN30-M5 M5 Steel Tix&R
8 FA-TN30-M6 M6 Steel Fix4X
8 M
, A
=14
< (o))
o .
N PEE =K
19.5
Slot ¥ Item No = hdRS Thread Y27 Material # i
8 FA-TN40-M4 M4 Steel 4N
8 FA-TN40-M5 M5 Steel ##x4K
8 FA-TN40-M6 M6 Steel 4K
8 FA-TN40-M8 M8 Steel 4K




T Nut / Hammer Head Nut (TEV42£})

F@CUS

ALUMINIUM

9.9 9.9 /i
| %@ =
©o —
) g © =
19
Slot ¥ Item No = AR5 Thread Y27 Material #4 iz
10 FA-TN45-M6 M6 Steel w(léﬂ
10 FA-TN45-M8 M8 Steel #ix4¥

Spring Nut / Half Round Nut (G#ZkiZ2£})

.
J O |-

'y
v

@

” 13.5 -
Slot f#J Item No == Thread Y27 Material # i
6 FA-HRN20-M3 M3 Steel fix5H
6 FA-HRN20-M4 M4 Steel fix5H
6 FA-HRN20-M5 M5 Steel fixsH
6 FA-HRN20-M6 M6 Steel fix4H




Spring Nut / Half Round Nut (G#ZKIZE})

o
e

20

F@CUS

ALUMINIUM

Slot # [ Item No = AR5 Thread Y27 Material #4 iz
8 FA-HRN30-M3 M3 Steel #ix4N
8 FA-HRN30-M4 M4 Steel #ix4K
8 FA-HRN30-M5 M5 Steel #ix4K
~aif- 1 3 -
8
(o]
- ~ &l
N ow
Slot ## [ Item No = AdmS Thread $2 57 Material # &t
8 FA-HRN40-M3 M3 Steel Bix4K
8 FA-HRN40-M4 M4 Steel k4K
8 FA-HRN40-M5 M5 Steel Tix4K
8 FA-HRN40-M6 M6 Steel Wx%K
8 FA-HRN40-M8 M8 Steel Bix4K
Slot ## [ Item No = adR= Thread Y27 Material #4 Jix
10 FA-HRN45-M8 M8 Steel ##x4K




Sliding Block / Slot Block (HE! /3RS EE)

F@CUS

ALUMINIUM

Pu
7] 9.3
6 o~
™ -
10
Slot §&[ Item No F=5udm S Thread $27F Material #4 i
6 FA-SB20-M4 M4 Steel Wk%H
6 FA-SB20-M5 M5 Steel Bix4K
M
/ 15.9
7.8
X | o
"% e d s
1
16 12
Slot ## [ Item No =Adm S Thread $27 Material # &t
8 FA-SB30-M5 M5 Steel Wix5K
8 FA-SB30-M6 M6 Steel Wik4K
8 FA-SB30-M8 M8 Steel Wix4K
i 13.8 -
/ 7.8
@
{ I "‘_3
| W
fo3}
16 8.1
Slot f#J Item No == Thread Y27 Material # iz
8 FA-SB40-M6 M6 Steel Tix4R
8 FA-SB40-M8 M8 Steel Tix4X




Sliding Block / Slot Block (HE! /3RS EE)

F@CUS

ALUMINIUM

18
9.8
D |e

©| ©
LD' =]

18 13
Slot §&[ Item No F=5udm S Thread $27F Material #4 i

10 FA-SB45-M8 M8 Steel Wix4N




T-Bolt / Hammer Head Screw (TZ!1222) F@'BUS

ALUMINIUM

Slot &[] Item No Thread Y25 Length (mm) Material #4 i
6 FA-TB20-M5x12 M5 12 Steel #ix4N
Slot &[] Item No Thread Y27 Length (mm) Material #4 i
8 FA-TB30-M6x12 M6 16 Steel #i4N
8 FA-TB30-M6x20 M6 20 Steel #ix4N

M8
7.9
- —(@)=Ek
18 } I
Slot &[] Item No Thread 427 Length (mm) Material #4 it

8 FA-TB40-M8x20 M8 20 Steel Bix4K
8 FA-TB40-M8x25 M8 25 Steel Wk5H
8 FA-TB40-M8x30 M8 30 Steel Wix%X




Button Head Screw (3

pall

S| h2 22

)

M12

-l
¥
<
[{=]

F@®CUS

ALUMINIUM

Item No Profile Size Thread $27 Length (mm) Material # &t
FA-BH45-M12 45x45 M12 30 Steel Fix4N
Item No = AdRS Thread 127 Material #4 &
FA-BH-M3 M3 Steel Bix4H
FA-BH-M4 M4 Steel Fix4N
FA-BH-M5 M5 Steel Fix4¥
FA-BH-M6 M6 Steel ix4H
FA-BH-MS8 M8 Steel hix4N




Cap Screw (1££%) F@®CUS

ALUMINIUM

Item No =R 5 Thread $2 57 Material # 5T
FA-CS-M3 M3 Steel hix4N
FA-CS-M4 M4 Steel fik4N
FA-CS-M5 M5 Steel Fix4K¥
FA-CS-M6 M6 Steel Fix4X
FA-CS-M8 M8 Steel hix4N




Gusset Element (§MNE £ i HE44)
FA-GE-1720

F@CUS

ALUMINIUM

7) 17
e 4
20 o o) J
o N
6.5 ||=
10 | —
58
Item No =5 RS Material #f /i Used For J& FAjA
FA-GE-1720 Al Alloy $8& 20 Series
FA-GE-2028
ob
0
20
= - 3
28 - &
N -
H 6.5 =,
R =
Item No =5 = Material # Jix Used For i@ fjd
FA-GE-2028 Al Alloy $RE& 20 / 30 Series
FA-GE-2040

Item No = 4RSS Material #4 Jix

Used For i@ A

FA-GE-2040 Al Alloy $R&

20 Series




Gusset Element (§MNE £ i HE44)

F@CUS

ALUMINIUM
FA-GE-3030
28
B 1.3
e} w
m -~
IEZRIE
=l
55
Item No =5 RS Material #f /i Used For J& FAjA
FA-GE-3030 Al Alloy $8& 30 Series
FA-GE-3060
28
T o
-
3.5 @[ °
=
5.8
Item No f=5dRS Material #4 Ji Used For Ji& FAA
FA-GE-3060 Al Alloy $RE& 30 Series
FA-GE-4040
39
~ 4
= o~
i = _‘+5
= 1
8
Item No = hdRS Material # i Used For i@ A
FA-GE-2040 Al Alloy $RE& 40 Series




Gusset Element (§MNE £ i HE44)

F@CUS

ALUMINIUM

FA-GE-4080

36

T 4
-
. I
=
7.8
Item No F=ihdR= Material # & Used For & Fji
FA-GE-4080 Al Alloy $8& 40 Series

FA-GE-4545

42
| —
8
‘ i
L
L 1? 4
]
e

9.8

Item No =5 = Material # Jix Used For i@ fjd
FA-GE-4545 Al Alloy $RE& 45 Series
FA-GE-4590
42
21
#9
. o
a w
=]
|
o 2
Item No = hdRS Material # i Used For i@ A
FA-GE-4590 Al Alloy $RE& 45 Series




Gusset Element (§MNE £ i HE44)

F@CUS

ALUMINIUM

FA-GE-6060
59
30
-2 o || 36
5  —
Item No =R = Material #1 fiT Used For & Fji
FA-GE-6060 Al Alloy $5E6 & 60 Series
FA-GE-8080

A4

78
eiE=E
0|l o 0

Item No =5 = Material # Jix Used For i@ fjd

FA-GE-8080 Al Alloy $85& 80 Series
FA-GE-9090
88
| 45 |
[7e) 9 ! D 4.4
1 1
-
7.8

Item No = hdRS Material # i Used For i@ A

FA-GE-9090 Al Alloy $864& 90 Series




Brackets (9MN& A IERH)

FA-GEB-3040

F@CUS

ALUMINIUM

O 24

= 125
30 of | |&
[+ ]

6.2
Q — 38

N 7

Item No F=iudm= Material # i Used For i@ A4
FA-GEB-3040 Zn Alloy $¥&6 & 30 / 40 Series

45 Degree Brackets (45 3 i #44)

45°

22

7

Item No F=indn Material #4 51

Used For & FjA

FA-45B-2030 Zn Alloy $¥&4&

20/ 30 Series

]

o
=
Item No = AdR= Material #4 Jix Used For J& Fjd
FA-45B-40 Zn Alloy $¥&54& 40 Series




135 Degree Brackets (135 5 iE144)

/

1357

=7

P

F@CUS

ALUMINIUM

A 4

22

Item No F=iudm= Material # iz Used For 1@ A
FA-135B-30 Al Alloy $85& 30 Series
135°

L4

60

~ | +

32

Item No J=54RS

Material #4 i

Used For & FAjA

FA-135B-40

Al Alloy $§8&64&

40 Series

Knuckle Joint ({£=i##£44)

23 |
1

iip

7 T y
o]/@/ﬂ
o™

::F " T A

28 20
1

Item No = AdRS

Material # Jix

Used For 1@ FAR

FA-KJ-20

Zn Alloy $¥&4

20 Series




Knuckle Joint ({12 & 44)

F@CUS

ALUMINIUM

L 1
 — —
5
Item No == Material # Jix Used For i@ fjd
FA-KJ-30 Al Alloy $8& 30 Series
4
08
(1]
Q l[fe.3
0]
38 , 40
Item No =R = Material #1 5T Used For & Fj
FA-KJ-40 Al Alloy $85& 40 Series
48
! ml 1
I [Ty
=t
0 [
T | ]
45
Item No =R S Material # i Used For & fAjA
FA-KJ-45 Al Alloy $RE& 45 Series




3-Way Corner Bracket (=4 1) F@BUS

ALUMINIUM
Item No == Material # Jix Used For i@ fjd
FA-WJ-20 Al Alloy $RE& 30 Series
16m M~
o
%ﬁ{ff’
Py = T o
HCEIN
3
Item No =R = Material #1 5T Used For & Fj
FA-WJ-30 Al Alloy $85& 40 Series
ﬁfﬁ@ Aol mm
{: i __.J:?- E-Q;L’\KE - - >
SEL e
:ﬁ L,::j'@,?-'j._':'-?f?“['ﬁii C& e
3 .L:\‘h -.\{ :-:,__;-.. = ; L-{_Jq_ﬂ
3 7T 4040 -
Item No =R S Material # i Used For & fAjA

FA-WJ-40 Al Alloy $RE& 45 Series




Sliding Profile Connector (—=2if 1K)

F@CUS

ALUMINIUM

S

Item No == Material # Jix Used For i@ fjd
FA-PC-20 Steel Tix&K 20 Series
7.8
/| 14-2 °
15.9
Item No =R = Material # & Used For & Fj
FA-PC-30 Steel 4K 30 Series

6.4

Item No =R S

Material # 5T

Used For & fAjA

FA-PC-40

Steel #ix4K

40 Series




Standard Fastener (58M3014)

F@CUS

ALUMINIUM

26.4 16.7
A0 -
45 O 48| 10
— ] [
I 18.8
Item No == Material # Jix Used For i@ fjd
FA-SF-20 Steel Tix&K 20 Series
@8 23
L2 .
8.8 ’: O ’L_]ira 15
1
26.8
|
Item No =R = Material # & Used For & Fj
FA-SF-30 Steel Bix4X 30 Series
@8 25
rf:a p—
10.8 ’: O ’L_Ifa 16
E— |
33
|
Item No =R S Material # i Used For & fAjA
FA-SF-40 Steel Fix4N 40 Series




Inner Bracket (90 ¥ fA1R)

F@CUS

ALUMINIUM

&

Q

Item No == Material # Jix Used For i@ fjd
FA-IB-20 Steel Fix4N 20 Series
14.5
7.8
| 06
A

38

O
=

Item No =R = Material # & Used For & Fj
FA-IB-30 Steel Bix4X 30 Series
18.7
8
06
o
Item No =R S Material # i Used For & fAjA

FA-IB-40

Steel #ix4K

40 Series




Inner Bracket (90 ¥ fA1R)

F@CUS

ALUMINIUM

18.7
8.9

|

38

L
Item No == Material # Jix Used For i@ fjd
FA-IB-45 Steel Fix4N 45 Series

Quick Connector (3#)

A
Item No F=iadm= Material # &t Used For i i
FA-QC-30 Zn Alloy $¥5&4 20 / 30 Series

28

7 6]
Item No = AdR= Material #4 Jix Used For J& Fjd
FA-QC-40 Zn Alloy $¥&54& 40 Series




Clamping / Multi Block (112

F@CUS

ALUMINIUM

/| I ({55
-.i ir -
20
Item No f=ia4R S Material #f /&t Used For & FjA
FA-MB-30 Nylon JE#E 30 Series
16.5
/I l’KT5 5
,, .i i_ .
23.2
Item No F=5udR S Material #4 i Used For J& FA
FA-MB-40 Nylon JE#E 40 Series
Sliding Tool Hanger (f2&/#M4)
9.8 A
:L__
27
29
26
Item No = 4RSS Material #4 iz Used For Ji& A

FA-STH-20M

Zn Alloy $¥&4&

20/ 30 Series




Sliding Tool Hanger (% E1iM5)

16

F@CUS

ALUMINIUM

L

40

210
@6

Item No = hdRS

Material # i

Used For Ji& A

FA-STH-40M

Zn Alloy $¥& &

30/40 /45 Series

13.8

| 60 ]

Item No J=54RS

Material #4 i

Used For & FAjA

FA-STH-40

Nylon JE&E

30 /40 /45 Series

Ball Transfer Units (4R ZE @ k)

20
16

T

s

40

38

Item No F=ii4R =

Material #1 Jix

FA-BTM-S

Steel fixé




Ball Transfer Units (4R E [ FK) F@BUS

ALUMINIUM

3 & < \ B
56 T , 56
70
Item No =i = Material # iz
FA-BTM-B Steel x5
@42
853 é? L (ﬁi:::::ﬁ i:i:iig§> 2
56 n 56
70 '
Item No =5 RS Material #4 Jix
FA-BTN-B Nylon JE#E

Conveyor Skate Wheel (155 #)

?38/48

@8

Item No = AR5 Material # Jix @ Diameter

FA-CSW-g38 / 48 Nylon JE&E 38 /48




F@CUS

= I .
U Strip (URY4E)
ALUMINIUM
12+0.3
TW‘ 1.240.3
ar}
8+0.5 10£0.5 |
US-6 US-8
Slot ##J Item No =5 = Used For & FAjd Material # i
6 FA-US-6 20 Series PVC
8 FA-US-8 30 / 40 Series PVC
- N2 N
Cover Strip (FE#E{%)
9.7 11.5
| 9.4 | ﬂ
ﬂ A ﬂ J
CS-8 CS-10
Slot & Item No F=iadR= Used For i Fi Color B3, Material #4 i
6 FA-CS-6 20 Series Black PVC
8 FA-CS-8 30 / 40 Series Black / Grey / Blue PVC
10 FA-CS-10 45 Series Black PVC




F@CUS

ALUMINIUM

End Cap (BUA5135)

Applications:
Caps are designed to cover exposed ends of frame profiles,

providing a neat and aesthetically pleasing appearance.

Usage:
Align the positioning block with the profile slot (center hole) and

press it in for secure fitting.

Item No F=adm S Profile Holes Used For j& A Material #/ 8
FA-EC-20 1 20x20 Nylon JE#E
FA-EC-2040 2 20x40 Nylon JE#E
FA-EC-30 1 30x30 Nylon JE#E
FA-EC-3060 2 30x60 Nylon JE8E
FA-EC-40 1 40x40 Nylon JE#E
FA-EC-4080 2 40x80 Nylon JE#E
FA-EC-45 1 45x45 Nylon JE#E
FA-EC-4590 2 45x90 Nylon JE#E
FA-EC-60-4H 4 60x60-8 Nylon JE#E
FA-EC-60-1H 1 60x60-10 Nylon JE#E
FA-EC-80 4 80x80 Nylon JE#E
FA-EC-90 4 90x90 Nylon JE&E




Nylon Hinges (5§ &) F@BUS

ALUMINIUM

®
14%

@1 1©5

20

Item No == Material # Jix Used For i@ fjd

FA-NHI-20 Nylon JE#E 20 Series

16

o
o

24

) Q

30

Item No F=ihdR= Material 1 i Used For & Fj

FA-NHI-30 Nylon JE#E 30 Series

i
©
[
16

35

Item No =R S Material # i Used For & fAjA

FA-NHI-3040 Nylon JE#E 30 - 40 Series




Nylon Hinges (5§ &) F@BUS

ALUMINIUM

AW N TR
O TG

QL@

40

o
™

Item No == Material # Jix Used For i@ fjd

FA-NHI-40 Nylon JE#E 40 Series

1o
18 |

30

o6
®

48

Item No F=ihdR= Material 1 i Used For & Fj

FA-NHI-45 Nylon JE#E 45 Series




Zn-Alloy Hinges (&5 &)

F@CUS

ALUMINIUM
— 12 —%~
95
o
@ €,
24
Item No == Material # Jix Used For i@ fjd
FA-MHI-2030B Steel Tix&K 20 Series

. 06.5
O| | l|GA
[fp]
(2]
@@
35
Item No F=ihdR= Material 1 i Used For & Fj
FA-MHI-3040B-6 Steel Wix4X 30 Series
0 -
@8.5
©| L&A
uw
o
@@
35
Item No =R S Material # i Used For & fAjA
FA-MHI-3040B-8 Steel Fix4N 40 Series




Zn-Alloy Hinges (&5 &)

F@CUS

ALUMINIUM

20

Item No = Adm S

Material # Jix

Used For Ji& FAA

FA-MHI-20

Steel Tix&K

20 Series

~,

©

6.5
13

_96.5

24

30

Item No J=54RS

Material # Jix

Used For 1@ A

FA-MHI-30

Steel Wix5K

30 Series

13

35

Item No =R S

Material # i

Used For Ji& A

FA-MHI-3040

Steel #ix4K

30 - 40 Series




Zn-Alloy Hinges (5§ H) F@BUS

ALUMINIUM

©
,
14

®6.5

24.5

40

Item No == Material # Jix Used For i@ fjd

FA-MHI-40 Steel Wix4X 40 Series

AN ©
9

.
[-F D -
=

A |k_J
21
67

Item No F=ihdR= Material 1 i Used For & Fj

FA-MHI-45 Steel 4K 45 Series




Nylon Handles (JE5EIETF)

F@CUS

ALUMINIUM
L/ | ‘ 7 16
g | -
b6.5 |, 1
: 102 '
Item No == Material # Jix Used For & fj
FA-NHA-90 Nylon JE#E 20 Series
/ £ |! 741 6.5
| s
8.0 || ’I |
137
Item No =R = Material #1 5T Used For & Fj
FA-NHA-120 Nylon JE#E 30 Series
Item No =R S Material # i Used For & fAjA

FA-NHA-150

Nylon JE&E

30 - 40 Series




Nylon Handles (JE5EIETF)

F@CUS

ALUMINIUM
vz ‘ Aozrts
]I o
|
_8.0], | T
| 180 | 28
197
Item No =5 = Material # i Used For i@ fjA
FA-NHA-180 Nylon JEFE 20 Series
||
Al-Alloy Handles ($53E5F)
A i \ 77 6
I 4
1
6.5 | |
| 90 | 19.5
' 106 '
Item No =R S Material #4 Jix Used For j# A
FA-MHA-90 Zn Alloy 5% 20 Series
v . A0 6.5
I & |
' |
8.2 | T
139
Item No = hdRS Material # Jix Used For & fjd

FA-MHA-120

Nylon JE#E

30 - 40 Series




Adjustable Handle (5] Z3EF) F@®CUS

ALUMINIUM

Material: Zn-Alloy

Color: Black

1. The Screw is made of carbon steel, and the threads have
undergone heat treatment, providing strong rust resistance.

2. Flexible adjustment, long life service.

3. Beautiful and natural appearance, resistant to solvents, motor

oils, greases and high temperatures.

4. Strong and durable structure, not easily deformed.

50
M6
RN o -
/ \ 8 2\
\&// / 5 [
M6 L [ Type:B
Type:A & L=16, 20, 25, 32, 40
15 M6
Thread Size Female Thread Male Thread
M6 FA-AHM6 FA-AHM6xL

)20°

Type:B
L=20, 25, 32, 40, 50

Thread Size Female Thread Male Thread

M8 FA-AHMS FA-AHMS8xL




Adjustable Handle (7] 54 F) F@®-CUS

ALUMINIUM

——f1 L=20, 25, 32, 40, 50
M1

Thread Size Female Thread Male Thread

M10 FA-AHM10 FA-AH-M10xL

Type:B
L=16, 20, 25, 32, 49

Thread Size Female Thread Male Thread

M12 FA-AH-M12 FA-AH-M12xL




Star Hand Knob (7L 23EF) F@CUS

ALUMINIUM

Material: Bakelite

Color: Black

1. The Screw is made of carbon steel, with strong rust
resistance.

2. Beautiful and natural appearance.

3. Resistant to solvents, motor oils, and high temperatures

4. Strong and durable structure, not easily deformed.

Thread Size

Female Thread

Male Thread

M6

AH-M6

AH-M6xL

Thread Size

Female Thread

Male Thread

M8

AH-MS8

AH-MS8xL




Foot Master (125 /éG) F@BUS

ALUMINIUM

Load for Each Caster _ ) | : Flat Installation (F) Insert Installation (S)
c. | Four Allowable : { s ¢

e Casters weight Load (..E @ e ml Il @_T‘ %

Model kg kg kg mm mm mm mm mm mm mm mm
GD-408 100 0.38 50 84 51 80.8+10 - - - M8x1.25 -
GD-40F 100 0.38 50 84 51 80.8+10 | 55*55 | 42*42 6.5 = =
GD-60S 500 0.75 250 101 61 82+10 = - - M12x1.75 18
GD-60F 500 0.75 250 101 61 8210 | 73*73 | 58*58 7 - -
GD-805 1000 1.25 500 125 77.5 102 +£10 - - - M12x1.75 16
GD-80F | 1000 1.25 500 125 77.5 102+10 | S0*90 | 70*70 & - -
GD-100S | 1500 1.85 750 142.5 80.5 80.8+10 - - - M16x2.0 24
GD-100F | 1500 1.85 750 142.5 80.5 80.8+10 | 95*95 70*70 11 - -
GD-120S | 2000 2.1 1000 141.5 89.5 |80.8+10 - - - M16x2.0 24
GD-120F | 2000 21 1000 141.5 89.5 80.8+10 | 95*95 70*70 11 - -

PVC Red Caster (fA)é)

With Brake
Wheel Size Function Support Weight (kg)
3" Swivel / With Brake 176

4" Swivel / With Brake 186




Adjustable Leveling Foot (B&i IR F@CUS

ALUMINIUM

. Max Support .
Item No. B D t M L1 Rod Mat L
emNo ase Diameter (mm) Weight (kg) od Materia
FA-D50-M8X50 50 M8 50 500 SEGRLL SATlIE
Steel
FA-D50-M10x50 50 M10 50 500 Steel
FA-D50-M10x100 50 M10 100 500 Steel
FA-D80-M12x100 80 M12 100 1000 Steel
FA-D80-M12x150 80 M12 150 1000 Steel
FA-D80-M16x150 80 M16 150 1000 Steel

=
.
=
1

" Max Support .
Item No. Base Diameter M L1 (mm Rod Material
( ) Weight (kg)
FA-D100-M12x100 50 M10 50 1200 Steel

FA-D100-M10x150 50 M10 100 1200 Steel




Magnetic Block F@®CUS

ALUMINIUM

Item No = AdR= Material #4 it
FA-BTM-B Steel x4
Cable Tie Support
Item No =AdRS Material #4 /it

FA-BTM-B Steel R4




